TOCO MOTION %lLafsmsBasfisica Slinsases e~

H&E4

Mono stage

7= fa ¥ 5 Product feature:

® —{&{L L Integrated structure:
mBHE, AF/NEERE, RITRRES, MEFe, #PHE.

High precision, small size, light weight, creative design, complete
specifications, easy maintenance.

® imﬁ ’ ﬂﬁﬁ#o

Fast delivery with inventory.

@ m#8EHigh Precision:
THEPCHE:£0.01
C: £0.01MM

RESZPHE: £0.003
P: +0.003MM



i 9 AR m

T 24438 A Single-Axis Robot
KTZ! Series

TOCO MOTION KTT ## 8 A E B2 E@EMERme  BERBEARIDRNESE 8 BltORREEEEE -
TREFE R - BT - 1R BIE R -

FESHEIHARIFUREENE  LRESREIEREIZUVEIENRES M REREERANT 2 E R
TheTOCO MOTION KT single-axis robot is driven by a ballscrew while a guideway slides on an optimized
U-rail to achieve higher accuracy and greater stiffness.

O BEtRZEERS.

Easy installation and maintenance
O @EWEEE

Compact and lightweight
O BiRE

High accuracy
o} EE'E |
High stiffness 1
O EfRE=
Complete line of accessories
OF il
PIEEEETERTRDT - SRR
IS - SITUNEEAT
An integrated system
The structure of rail is analyzed by FEA to
get the best rigidity and weight. The analysis
results are shown as the right figures.

Block
e ) o
nd sea s 2
SR iy i
Ballscrew o‘ Tail housin
miEE - 9
Motor housing \0‘
/ ZPNY

I\\..
il 3
Top seal

S

1.1.1 #48{k Modulization

KT T2 A EBEAIL 2885 EERKMETMITEY  TMELIE EHNB TS EEIBES BT
2 T ED IR (R B RS, - AU KT T MR ATIRHREER - 25  BiEE - SRt
SN ORI E PR AR R -

The KT single-axis robot integrating a ballscrew and guideway forms a modularized product. The medularized

design can help customers save time, cost and system inspection. Therefore, installation efficiency and a space-
saving design are also promoted.

RS KT TSR
Traditional linear stage: KTsingle-axis robot:
14?‘13 1%&#1’5

1 Table + 1 Ballscrew +
24F1HRm 138880

2 Guideways + 1 Rail

1RIRIFAT

1 Ballscrew +

1EE

1 Base

1.1.2 [U75[@I% &S Equivalent Load

ENE RN IR 2 B AYI0 A R - HOHER BRI
BEEANMEF N ZRE A B4EES

B B TESKTIESBATES

U7 EEF R LT -

The gothic arch contact design sustains load

from all directions and offers high rigidity and accuracy.

1.1.3 BHEIME High Stiffness

MERNRAVENE IEEERTESWENEES RIRERTE CRE T8 EENEREEH

v IREE S RIS -

Using finite element analysis on the U-shaped cross section allows the volume and rigidity to be made balanced,
therefore, a high rigidity rail, compact design and a light weight design are also accomplished simultaneously.

tEHEREMoment of inertia E&iI Unit:mms Y v axis

BB Modelno. | Iy 1y Q)
Jr KT30 7664 ¥ 10 12796 ¢ 102 . /—iJL‘JCenter of gravity
1 KT40 3533 10° 5317 % 10+ |/

KT50 96x10° 136108 | i

KT60 2,056 10¢ 2.802x 10 —— X8 X axis
i KT80 6711 %104 8446 x 100 : €

KT8 7445 x 104 1134 x 10¢ 3

KT100 129 x10° 2.095x 10¢ e computed about X axis

KT130 2oy Skl Iﬁﬁ;ﬁ%ﬁgﬁerlia computed about Y axis

1.1.4 FRIBZBHEIE Various Specification

TOCO MOTION $t&STRAERIERTRR, FRHTISEKT IR A, RUEFRERTR. =H. SsEm,

KT single-axis robots of various specifications are developed, providing customers with different
choices relating to space and loading conditions.

B Model no. w H
/KT30 30 15
KT40 10 2
KT50 50 % *
KT60 60 3
. KT80 80 5 {
KT86 B . W
KT100 100 55
KT130 130 8

BLE  BLRBEERED,

Remarks: models with ¢ are still under development

TOCO MOTION |ooz




1.2 BIEECF Accessories

BT EESEAERRL  KTIRMBE AT SN BEEES - FREE - BEZEEW - EREER -
Accessories of KT single-axis robot are also supported for specific demands, such as an aluminum cover,
bellows, motor adaptor flange and limit switchs.

O SRS - hiEHNE : IHILRY - HEEAKTIRXERACHTEEEERED  BE - FSE

Aluminum cover and bellow: contamination protection
O BEEHEM : TiSETAREHERKTIS~EAZLE

Motor adaptor flange: connection for different types of motors

O {HiRRER : IREVRREL - BERSLRSIDHREE TR Z =65

Limit switchs: starting point, positioning and other safety matters

fS M R ot
a®

Fitting plate

1 fEIRBAR

Limit switch

003 I TOCO MOTION

1.3 ESREYSE Model Number of KT Series

KT 60 10 P E

|
KT %5
KT Series
R?—:
Nominal Width:
50, 60, B4, 100

130

RERIRAR(BS) WiE:
Ballscrew Lead
KT50:2

KT&0: 5,10

KT 86: 10,20
KT 100: 20
KT130: 25

AEFE
Accuracy Grade:

P: ¥BEHR » C . —HR
P: Precision, C: Narmal

E . RERFRRHI L
E: Ballscrew Special Order

HHACHR . HERRITIREL
MNone: Normal Type

MEREE (mm)

Rail Length [mm]

KT50 : 150, 200, 250, 300

KT&0 : 150, 200, 300, 400, 500, 600
KT86 : 340, 440, 540, 640, 740, 340
KT100 : 780, 1080, 1180, 1280, 1380
KT130 : 780, 1180, 1380, 1680

C S0 M

L— Mm:mmE
mEinaR. @
None: No

SRR :

Limit Switch

S0 REMEE

50: Switch Rail Only

51 : TOCO MOTION SX671 P

52 :TOCO MOTION SX674
(#580)

IRECAE . M
Mone: No

L—C: sEEEE
C: Aluminum Cover
B: {RHEIEE
B: Bellows
Mone: Mormal Type

RiE AN

Maotor Adaptor Flange:

FE : HERIIT
FE : Flange Special Order

E ¢ REERERINT

E: Block Special Order
HE0E : BEERAET
None: Normal Type

BEHE 1,2

Number of Blocks: 1,2

E : BETRINT
E: Rail Special Order
HECHRE : ERER
MNone: Normal Type

B -
Block Type:
A EER)
A: Normal

TOCO MOTION 004



B i A mt

1.4 B#ERE Specifications 1.5 ¥SEFR Accuracy Grade -

TETEWY ELME TERTE B EER [N-cm)
BISR BERE Repeatability Accuracy Running Parallelism Starting Torque(N-cm]
Model RailLength ¥R —BR WEER —RE WEER —BE B3R —BR
Me Precision Normal Precision Normal Precision Normal Precision Normal
F oy 70
R e 100
\ 125
- g KT30 = +0.003 +£0.004 0.020 0.040 0.010 0.020 1.2 0.8
175
EIR2I% Ballscrew HILHM Guideway 200
ﬂgz, &5 %ggﬁé;gﬁ] %g%ﬁ] %gg[ﬁ HETEFI%E Static Rated Moment Ll
.. EE. ? ENNR S a0 1 4D M, N-m) B M, (N-m) D Mg (N-mi KT40 150 £0003  £0.01 0020 - 0.010 - 12 0.8 :
a i i Basic Static i i i
ModelNo. § E Ormumc suic bremc DI oot Mot Aleeso 200 e
3 Load Load ] .
= [pitching] Iyawing] frolling] 150
oy AE OBE BE RE AT RE NE RE RE RE BE RE ME ME AZ AT
I!nrnk [mmJ Block Bleck Block Block Block Block Block Block Block Block Black Block Block Block  Block Block
A ST AL TS K A2 ST S2U LAY DRD: ST 52 LAY A2 (ST 82 200 03 oot 5 10 4 2
mﬁ &1 iogs KT50 250 LI =a4 a0 2 LA =
7 KTI00N, g & aettl| | = |t k|| I || || AT | e =
o §18 1079 300
WHER 735 1538 150
JOTADDY. T ] |y 9 - 6h8 - 31 182 - - T3 W . - BEH W - -
ThR o 12 200
P S +0.003 +0.01 0.0z20 - 0.010 - 15 2
' 2136 3489
KT5002 "5 g 2 oo IR o T O R - T R KT60
o 1813 2910 400
Bk M4 6243 500
KT6005 "o 12 5 13230 7173 21462 NST4 152 T0 72 36T 152 a0 T2 347 K19 B3B 241 4B2 +0.003 +0.01 0.025 = 0.015 = 15 7
i 37 5425 600
L w0 340
KT&010 _ﬂa‘ 12N |F2i 13230 TI73 21462 11574 152 TE0 T2 367 152 0 T2 347 419 B3R 241 4ED 440
Normal LA £0.003  £001 0025 - 0.015 - 15 10
Tiek 12642 _ 540
KT8o10 PreciElen 45 4o 3468 - 5076 - 622 3050 - - 422 05D - - 1433 2864 - - v KTBO 440
il £429  M3eT
#&zp a5 — 740 +0.003 +0.01 0.030 - 0.020 - 17 10
KT8020 _“'“" 15 20 3458 - SOTeA - 622 3050 - - 522 3050 - - 1433 2Bée - - 940 +0.003 +0.01 0.040 = 0.030 5 25 10
o @75 68y
Mﬂ TIhE 12642 340
KTBat0 FrecEon 45 qp 31458 21051 50764 29475 422 3050 186 1307 622 3050 146 1309 1507 3014 BAT 1494 440
. 6429 11387 +0.003 +0.01 0.025 - 0.015 - 15 10
poiioey 540
4665 7655
KTB620 "";‘g‘ 5 20 3158 21051 50766 29475 622 3050 186 1309 622 3050 16 1309 1507 30I6 BAT 169 KT85 640
=R 4175 4887
;"‘g'& 740 +0.003 +0.01 0.030 - 0.020 - 17 10
¥ 046 12544
KT10020 752" 20 20 39200 - 63806 - 94D T3 - - B0 473 - - 205 &0 - - 940 +0.003 +0.01 0.040 - 0.030 - 25 10
FW a2 e
lormat gan
R e +£0005 %001 0035 - 0.025 - 17 12
KT13025 "0 25 25 4101 - BBy 1636 730 - - 1536 730 - - 388 T - - 1080
MNorm Zuie Chesse KT100 1180 0005 001 0.040 -~ 0.03 . 20 12
g -.:"ﬁﬁﬁ*ﬁﬁ&ﬂﬁtp? 1280 sti lsap 0.045 ) 0.035 i 23 e
Remarks: models with sr are still under development 1380 0.05 0.04 25
780 0.035 0.025 25 15
1180 +0.005 +0.01 - -
KT130 0.04 0.03 25 15
1380
1680 +0.007 +0.012 0.05 0.04 27 18

ik R AR TR P,

Remarks: models with ¢ are still under development
005 TOCDO MOTION TOCD MOTION 006



B W & ot

1.6 RAIRE Maximum Speed Limit

HEERWREE
HU5E Model Ballscrew Lead
mm]
KT30 01
KT40 0
KT50 02
05
KTé&0
10
10
- KT80
20
10
KTB8é
20
KT100 20
KT130 b
007 TOCO MOTION

NEREL2
Rail Length L2
[mm]

75
100
125
150
175
200
100
150
200
150
200
250
300
150
200
300
400
500
600
150
200
300
400
500
400
340
440
540
640
740
940
340
440
540
640
T40
940
340
440
540
640
T40
940
340
440
540
640
740
940
580
1080
1180
1280
1380
980
1180
1380
1680

#EE Imm/sec] Speed [mm/sec)
FRE#E Precision  —f3#R Normal

160
160
160
160
160
160
190
190
190
270
270
270
270
550
550
550
550
550
340
1100
1100
1100
1100
1100
&70
740
740
740
740
740
410
1480
1480
1480
1480
1480
1220
740
740
740
740
740
410
1480
1480
1480
1480
1480
1220
1120
780
750
630
530
1zo
nzo
B30
550

160
160
160
160
160
160
190
190
190
270
270
270
270
370
390
390
390
390
340
750
790
790
790
790
670
520
520
520
520
520
430
1050
1050
1050
1050
1050
870
520
520
520
520
520
430
1050
1050
1050
1050
1050
870
BOO
800
750
630
530
BOD
800
800
550

e RS AT D,

Remarks: models with <7 are still under development

1.7 EMAYETE Life Calculations

1.7.1 &0d Service Life
ERITENEBEEIEENE - FEREE SRR R HEREER  — RN ES R « 2
EENENLELRYEE AR ERRRESNIERS - HERSUNEELE - BONTEEDR

R RERMRE

HESMELRERISERICASE TR -

Under repeated stress between the raceway and the rolling elements, pitting and flaking will occur as it reaches
fatigue failure. The service life of the KT single-axis robot is defined as the distanced traveled before any failure of
the raceway or rolling elements appear.

1.7.2 BBFER/A

Nominal Life (L)

TREBANSES - AERANSHN - DEE—HRSHER - THEEGERETER - SHUEAETE -

EthERRE S aEl A2k

EBRKTSEETRIFEERSmEE -

The service life varies greatly even when the KT units are manufactured in the same way or operated under the
same conditions. For this reason, nominal life is used as the criteria for predicting the service life of a KT unit.

1.7.3KTIRIB2EEES0ETE Nominal Life Calculation
TEMBAZEMAHIDRMENDE!T - SEEERNEREEREE  LLETRARMNER ) ESHEHEZHEE

Win - EETRID A

mr

The calculating formulas are divided into two parts, guideway and ballscrew, The smaller value of the two would
be the recommended nominal life of the KT unit.
Nominal life formulas for both the guideway and ballscrew depend on several parameters and are shown below.

1RIEEEN Guideway
ﬁ 3 L ?{Eﬂﬁ [2%km) C : BXRERESHIN) :
[= (_ Pl ) x50 T ife Rating (km) Basic Dynamic Load Rating (N]
e Py h : EEGN (2SRRI P.: T{EEMIN)
Contact Coefficient [ref. Table 1] Calculated Loading (N]
fv: BIERE (SERE2
Loading Coefficient [ref. Table 2)
Fatf Table 1
FBEERIT Block Type |HEMGFRE 1 Contact Coefficient
A1,51 10
A2,52 0.81
et Table 2
T{Fi815 Operating Condition B £
B7&E#R % Thrust and Vibration = v) Velocity (v) Loading Coefficient f.
EH®DEFENo Thrust {EERRY < 15m/min 1.0-15
EREET Low Vibration FREE15 <V < 60m/min 1.5-2.0
ZEBRIRHREN High Vibration EEEV > 60m/min 20-35

IEERIRAR K8 Ballscrew and Bearing

C,
(fT P

L : ETERG (NE)
Life Rating [rev.)

3
JR10eY L e esms

C,  BEHBEERFEN)

Basic Dynamic Load Rating (N]

Pon: B TIERTEIN

Loading Coefficient Iref. Table 2| Axial Loading [N)

TOCO MOTION

008




1.8 & Lubrication 1.9 KTEFR*RY Series

KTT S5 A EPEERNRT SR « RONSNEEASIEN - EHOER TR AN EERE - 1.9.1 F=5EE Without cover

HEDIERHE T AR
Insufficient lubrication of the guideway would lead to a reduction of the service life. +KT30 M2 B0 ASPAE S DR i | 43 5Pxd DF %T%T;:m
M2, : - 7] 2
o FAORENEDEVER - HINEETEERE . 2 g R ar s — =
Reducing rolling friction and avoiding abrasion e} -4:3" @ | 0 ‘i" <110 y,» g .
« ERENEREZ B ANE - TERRORSH o ¥ 5] EE—--:“T;_-' = = = B= § %
Providing a lubricating film and extending the service life 2| 4 (8]_| ’ o dgeRel i ﬁ ). 4
o B A - ecTovAR  2AMIOSES0P ! o EEET T &
Anti-rustin 2-M2.6x0.45P%3.5 OF 5412 0P P
B 9 4/ _,j._
ﬁ 2 L2 245
L
E 1.8.1Ei&MHAS Lubricating Grease
; HREEsRETERE  BRBEERERIRESHNNRAE  BAEPEMHERE100kmIy - BEWFNREE— -te
2+ LERF O R R B R BTN - FREET A BIRG - RSRiEER R EE B Es0m/min » BHITHEIFR i n
HRERANES - A
Re-lubricating the KT single-axis robot every 100km is recommened. Generally, grease is applied for g 14 17 e
speeds under 60 m/min. For operating speeds over 60 m/min, a grease with a higher viscosity should be < | el - et L
used. 31 | — n-1}x50 = G
T : SR (hour] MERE  of q(mm BATEMaimumstroks fmml E®Mass (kg)
X - s
a0 TR = ;&f}caf'ﬂlglﬁ’equenw (frs) Riillength Totallength AT@msso  A2@@Ees C T " AVBEBock  AZRESick
Ve x 60 ® Speed Imimin 7 129 3 : 125 2 02 -
100 154 56 = 25 2 0.23 =
125 179 81 45 125 3 0.28 0.3
150 204 106 70 25 3 0.29 0.33
175 229 X3 95 125 4 0.32 036
200 254 156 120 25 & 0.35 0.39
1.8.2 rease Nipple
' . KT 4-M3x0.5Px4.5 DP 58 If_z?(.l'.l.-!3.-‘!‘.1'.‘!3.”&&-.5.&3..9.?
BB Single slider 40 PMDOSPRADP 25D ML6X0SPxt DP 32
A ) I
. @d [2Ie @ il @—@ —
e — e e e ! L e A
b ] i+ &
A SCs1fe ¢ e ,
| 2:M2.6:0.45Px4.5 0P/
i - SECTION A-A 5 L2 5
L
e 49 -
B . i 4-M3H0.5Px6 DP iy
Double slider /' Grease nipple I,*’P{:n 29 Jo — Bl
— I 1 [ ) E =
. 0 @+ | P & |+ | P + *—I.'.'—CI' I :El il — 1 -S?! VIEWE
T T~ N = == i T i o) o M ——— I ——
¥ ,E[ ¢+ ¢[+1o | P g* ! —4a  lal 8
1 [n-1]xé0
¥ _
JGBE';.ESE nipple ﬂ%\%ﬁ 281 (mm]  WATTE Maximum Stroke (mm) & (mml n EEMass (kg)
Rail Length Totallength  Ati@eick  A25EBslack ABEpock  A2EEBlock
100 159 34 - 20 2 0.48 -
150 209 84 34 15 3 0.6 0.67
200 59 136 B4 40 3 072 Q79

BHEE R ARE RS,
Remarks: models with +r are still under development

009 | TOCO MOTION TOCO MOTION 010



i i & mt

KT50 4-M4x0.7Px6.5 DP 2xn-04.5 THRU,B8x4 DP KTé0 lﬂﬁﬂ“”ght Dl.ll)'l

2x2-M2.6%0.45Px4 DP ;
2x2-M2.6%0.45Px4 OF — 5% 2-MSx0.8PxBDP
2x2-M3x0.5Px 8 DP ) / 2um-M2.6x0.45Pxk DP -, 2xn-05.5 THRU,D9.5%4.7 DF
: 262-M3x0,5Px8 DP. '\ I /-
é ] i é/ | ‘I
= . " i
o o pe  g-f 114
e 1P ] |T | j
1
10x1.5 |
SECTION A-A 5 3 - K
| SECTION A-A " . |
m-1]xK |
? v
L1
4-M3x0.5Px6 DP 59
PCO33 | 10 4-M3x0.5Px8 DP r&i‘ﬁﬁ_‘

[ 4

1
A
0| g = 1 T
N A e Sihen T ;S
i f\/g)/ ' =% g :L'hf- 31 | T : e | 13
VIEW B Tn-11x80 & m' “’-] . mIE' 2 ] b
- e : I
= 28 11 (mm) BATTHEMaximum Stroke (mml E R Mass [kg) VIEW B
[ i z
Iﬁzairlnlr_r:elngth Total Length AT@ ok A2WBEEBlack G (mm) Kimm] g AlBERock  A2BEERck ﬂaﬁﬁ ZEB U Imm) B X ETRE Maximum Stroke imm) 6imml Kimml n - EHEMass [kg]
150 270 70 - 35 80 2 1 i Rail Length Totallenath symmanc  S2i@EEsick S1REeck  S2HRElock
200 270 120 55 20 160 3 1.2 1.4 150 220 85 34 25 100 2 Z 1.4 1.6
250 320 170 105 45 160 3 1.4 1.6 200 270 135 84 50 100 2 2 1.7 %
300 370 220 155 30 240 4 1.6 1.8 300 370 235 184 50 200 | 2 23 25
400 470 335 284 50 100 4 4 29 31
| 500 570 435 384 50 200 ) 3 35 a7
KT‘“ lﬁgﬂ’lStandard] 600 470 535 484 50 100 & & 4.1 4.3
18 .
75
n e 4 DP 24604574 0P | 4B AME"P2 DP
y P IE0 OF _‘_Y,ﬂit 2xr-26.6 THRU,B11% DP
L BT i L] L LI |
— - I: : “: |2 = :@/ 4 %
.'I' i 8 —_— = B | 2
? i : = ® @ II|I - L IENAES
' 2-M2,6x0.45Px3 P/ |___[15x1.5 0P _J.ﬁi_ L . -
SECTION A-A \_ K 8 E [l | = - 75
7 (-1 200 s
--—BG -
23 51
-M3x0. |z s
h%ﬂ .'/\?x ru 1 | 18 ﬁ
T P A —_—
o -‘(!fl o | —— T — " (A | 5 vews S T EETTIE e
T WIS 3 T 5 —H g e = e
ﬁ o "‘-—I—-?‘\ﬁl 1 = = — T . 5 N \ | e o ) — b 1
— L= n =
£-MbxD).7Px8 [:IP| 3‘ | * 100 6 )_\j 100 ) §|
In-1]x100 PC.D. 60 {1100
VIEWB VIEWB 2
WERE o= | (mm) BXTE MadmumStroke (mm) B Mass (ka) ~ = s
G K o
'ﬁiE'{'{_’gngm TotalLength AV@EEBiccc  A2ifEBBlck et Simmliw = ABEBock  A2BEHck ﬂﬁﬁg ER L1 (mm) BAITHE Marimum Stroke [mm) fame h o B Mass kgl
150 220 &0 2 25 100 2 2 15 L Rail Length TotalLength sygmanc  S2i@EEslock SRk  S2HREEBLck
200 270 10 - 50 100 2 2 1.8 - 340 40 2165 10B.5 70 3 2 53 3
300 370 210 135 50 200 3 2 2.4 27 440 540 3165 208.5 20 & 3 6.5 7.2
400 470 310 235 50 100 4 4 3 3.3 540 640 416.5 308.5 70 L] =) 76 8.3
500 570 410 335 50 200 5 3 34 39 640 740 516.5 408.5 20 & 4 8.8 9.5
600 570 510 435 50 100 & & 4.2 4.6 T40 840 616.5 508.5 70 7 4 10 10.7
F40 1040 8165 708.5 70 9 5 12.4 131

fE g R RER T D,

Remarks: models with 7 are still under development

011 TOCO MOTION TOCO MOTION 012



B W A ot

KT86 (=¥ E!) (Standard) ne KT100
2xm-M2 6x0.45Px4 DP 4 4-Mbx1Px12 DP BT
g 2-M2.6x0.45Px4 DP 15x2 DP 2xn-06.6 THRU,011x6 DP I' 1
40.7Px10 DP RMES AR RE |, 2 g xn-@6.6 THRU,B11x i ke st ”-51_ & MEx].95P¥15 P
= ] = :u X P - L |' 7 2x2-Méx0.7Px10 DP % 4-M3x0.5Pxt OP_| 1 sl /‘M‘MDP
i u] | 35 ] : v :
R e e s r sl T %{-I—ss I = E i
;'.‘S]g} & o [Jol e - l "'-;'_'—Irll'—__ = '@'
* - + 1 @ 1) o [ 9 =1
: 65 ___l T 5[ _||] Ha v " 2 T
SECTION A-A o 1 15 L e ]
= m-11x200 6.5 = 200 H 7.5
a7 Im-1}x200
s i %
£-MSx08P10 07 o X ﬁ 35 £M505P100P 5
o - e : ) Bl
ol N ) I el % views P e S s
. 2 ,_I - L S— T —=h i o n}__ e e VIEW B
E \%lé} f 1 A — b —— g = v < s o
i gi-mxu.msn 100 70 8 | ek 5 E’
[n-11x100 | 150 6] g
s L2 In-11x150
[K] | L2
K]
Eﬁﬁﬂ R0 (mm) RATEMmimnSoe o) I8 i Mass (kg)
Rail Length TotalLength AVE@EEpock  A2EEBick AVBEsock A2 Eainck ﬂ’FﬂF £H/L1(mm)  BATRMainumStroe rml et} B E @ Mass (kg
mi
340 440 210 100 70 3 2 57 65 Rail Length Totallength  AlEsock A2 HiBlack " A Aok A2BEBlock
440 540 310 200 20 4 3 69 7 980 1089 B28 700 40 0 T 5 18.6 0.3
540 640 410 300 70 i 3 8.0 8.8 1080 118% 928 800 18 40 8 & 203 220
G40 T40 510 400 0 & 4 9.2 10.0 1180 1289 1028 500 65 70 8 & 220 237
740 840 610 500 70 7 4 10.4 n2 1280 1389 128 1000 40 40 ? 7 236 253
940 1040 810 700 70 9 5 1.6 12.4 1380 1489 1228 oo 15 f0 10 T 253 27.0
KT86 (#EE) (Light Duty) ,.. KT130
Zm-M2.430.45Px4 OP wsxzop, [ 2Méapxizoe
2 MaxD. TP DF '\\ 2-M2.6x0.45Px4 OP FJ_; 24n-6.6 THRU,011x6 DP ks
SEEE S s T
[ Y i o T M2 430,65k OB GMBOSEROP| | g 4-M10x1.5Px20 DP
7 & =) d T I° 3@'( 1 ‘:;:‘ 2xn-011 THRU,B17.5x10.5 DP
d ; e e L g = T N : = m———
| P el ® ! o9 [ls | Po | & | ° Jpeue) e 1
&6 jzo] ¥ . Ty e— + _1 Fan s | [F 1= = __ﬁ = = I
85 P 65 _ | 7 EI “l E&”’ s[ L o | ° ]
200 H o [+ e 2
SECTION A-A Tm-11x200 55 [ 1 o j I . ; - e n
s 12_[]
e BEE SECTION A-A El) | H + ]
50 im-1lx200
I 2 100
13 _i]-[ L Misieriz b JE £
7] ,],'__;'_|‘ E[T' - I : g1 s | 1. ER L
i'l e I=—19 9y vEws ] A VBRI
& i 1 + TS o) | 1 3 0 o [l I e |
T 1] T T et . Ak I [ e o [F 4 g 5; _VEWS
r T | - || 3 . — 1l
=A 8 0 s i’ i 0 el o BC [ [ (I8
100 70 [ i il t =
PCD 40 In-11x700 —A - - Q
In-1]a150
VIEW B G _ - - -
miﬁ&& B L1 (mm) BAITEMaxdmumStroke [mm) E @ Mass (kal
H iy
Rall Length Total Length ST#@EEelack  S2iREEBlack Ll 4 S1REsiock  SZEEEBIock ﬂﬁ%ﬁ SR (mm) BATE Hsaimin ok o) o tml ol - Ei#Mass kgl
340 440 244 170 70 3 2 54 59 Rail Length Totallength —AlBEEmuc  A2iRMERuc: AT#EEock  A2FEBBlock
440 540 344 270 20 4 3 5.6 71 980 1098 an 4659 40 g0 7 L 29.4 323
540 &40 Fres an 70 5 3 77 82 1180 1298 1011 ase 55 90 8 & 34.3 372
840 740 544 470 20 & & B9 9.4 1380 1498 zn 1059 20 20 9 7 3%.2 421
740 840 bbb 570 70 ) & 101 106 1680 1798 1511 1359 20 40 n 9 46.5 A9.4
740 1040 844 770 70 s 5 nz 1na
013 TOCO MOTION TOCO MOTION 014



B W A ot

1.9.2 == With cover

-KT40

4=MéxD.7Px14 DP

5

2xn-@3.4 THRU,B6.5x3 DP

/ 2x2-M2.6x0.45Px4 DP

KT60 (#2:¥2)(Standard)

2xm-MZ.6x0.45Pxs DP

4-MSx0.8PxB DP

2xn-@5.5 THRLL@% 5x4.7 DP

_____ +|" T >
DNl e T T
: oy CE D 5 E—
iy b = = k= - ki
! T [ — B 14
% o y SRFLHIPS R
=g sk :
gl XXX B
= K [
SECTION A-A :: L2 3 il i
L1 L2 |
LT
] a2 4-M3x0.5Px8 DP
Z._ 325 _ 4-M3x0.5Px8 D P 1
£4-M3x0.5Px6 DP 145 ,_P':D o ."'/\5 - i # 2
[Fo0 23 0 A B |_ = .w{/ ‘%‘« = LIl |-' ! }
: 1 : : R i
i 7 Mieei | [t F ) B L B e 1 (=
| .U'r Cl-|-||. .||_“ g .| i3 :q ﬂ,ﬂ = J1e = j . . | .
8 8 p———t ! I o b= i _VEWB o ""?‘ e [ T T =
l-'zl { el T T H— s Pt o s!mm.?vxs orl \/ g] | R _I_ 6
1 ‘ >y 2 T EE 1.1 Y D
VIEW B < ..—-__."" L ;
In-11x60 WERE 2801 (mm) BATEMaxinum Sroke il v it E & Mass lkg)
WERE o5 (nm  BATEMainumSioke (mm) e I E#Mass (kg) Rail Longth T0t2l Length ATBMucy AZfEEBtock LA = AVBEBock A2 BBk
RailLength  Totallength  AUEEuck  AZifEEBleck STREanc  S2EEBisck 150 220 60 - 25 100 2 2 17 -
100 159 3% & 20 2 0.55 L 200 270 10 - 50 100 2 2 21 -
150 209 Bé 24 15 3 0.68 0.76 300 370 210 135 50 200 3 B 27 30
200 259 134 84 40 3 082 0.89 Sk 470 il 235 =il il & & L Sf
500 570 410 335 50 200 5 3 ag 42
400 470 510 435 50 100 3 4 46 50

s R RRRER S,

Remarks: models with +r are still under development

KT60 (EE&E)(Light Duty) i

2-M5x0.8Px8 DP

KT50

% 2xm-M2.6x0.45P x4 DP

25,5 THRU,89.5x4.7 DP

uﬂ £-Mix0.7Px10 DP

gz:m.ﬁxmesmﬁ

. T UV E E'___z
oy
| Lz | N
] 2-M2.6x0.45Pxé DP. B
uﬁl_nﬁ_n 5.7 - K 6
2%2-M3x0.5Pxé DP | B|_ T Im-1IK
K G Lz
L2 = 1 -
L 59
& 4-M3x0.5Px8 0P 18505,
16 34 PCO 40 7 A A 5
4-M3x0.5Pxé DP 3 | = = o ] “F@_
s i 16 JT& | L "/ ,'||'{ | N ]
i ™ —" o "?. L g YA L fa views
J i e s i I wq - CO . s | .
[l ! q]—l_llh_ll.l_’—“ o (T B 2 o oK ! L1 A | T _1E
i ﬂl S/ R S - e 1 El R 4—’M4mmu?7_\, 3] IT‘ [ s
! Raj / T T O ——— =g PCO4D [n-11x100
3 E JLE‘—‘ a0 8 g VIEWS
In-11xB0 nERE BT Maximum Stroke [mm) k
L2 (mm] ‘%tﬂLli_‘ I""t';‘} T G (mml Kimml o m i_‘ME'SSI 9
NEEE ki B Maximum Strok B Mass (kal Rail Length Totallength SHigmgiock  S2#MEsIeck S1B M Block S 2B Malock
2 tmim) 28 L1 (mm) It Il Stmm] | KimmE n 855140 150 220 85 34 25 100 2 2 14 18
Rail Length TotalLength  AT@Esiock  AZiEBlock S1EMEBlck  S27B@Block 200 270 135 B& 50 100 2 # 19 23
150 220 70 - 35 80 2 11 5 300 an 235 184 50 200 3 2 25 27
200 270 120 55 20 160 3 13 15 400 470 335 284 50 100 4 4 31 a3
250 320 170 105 45 160 3 16 1.8 ol il i S sl 2l k 3 AL 49
300 a7 220 155 k| 240 4 18 20 A0 A2 = L = 1 C & LS 5
015 TOCO MOTION TOCO MOTION 016



B i A ot

KT86 ({E8Y)(Standard) KT100

4-M3xl).5Pxé DP -MEx1.25Px15 DP

2xn-@9 THRU,@14x8.5 DP

& 1 =
L2 4
H o
B[
ﬂ_...l.._
SECTION A-A [m-11x200
94
4-M510.8Px10 DP i
PO 70 15 o _:%__
3= VIEW B i [0 T |
8 g | {1 (I il VIEW B
3 "] - I|I - -
, , i=— — :
J4-MéxD.TPx8 DP ——A &
In-1]x150 | 14 £ 8 %ﬂ-'
VIEW B = 8
L
Egi{ﬁ%ﬁ 2811 (mm] BAFTE Maximum Stroke (mm) Himm) = s HEillMass kg
L2 Imm| o
Rail Length Totallength AtigEEsiock  A2iRBid AlEESok A2 Bk niﬂﬁla 2R ) BATRNainSoelmm] E#Mass (k)
L2 imm. n
340 440 210 1o 70 3 2 65 73 Rail Length Totallength Atgmocc  A2@mmes 4 AVRBEo A2 MEBlock
440 840 310 200 20 & 3 8 86 980 1089 828 700 40 90 7 5 204 221
24l 8kl A0 el i 2 & 2 5B 1080 1189 928 800 15 40 8 6 222 219
2 15 Al 00 2l “ & it:a i 1180 1289 1028 300 65 90 8 6 240 25.7
Al Al il el 20 & s s 15 1280 1389 1128 1000 i 40 9 7 257 274
A st i il 2 £ = gl do 1280 1489 1228 1100 15 90 10 5 275 292
KT86 (E£&E!) (Light Duty) KT130
| 2-Méx1Px12 DP 157
s
g | 2xn-@6.6 THRU,B1 1x6 DP i 4-M3x0.5Px6 OF ﬁ‘_m_'m =MBX1.26P b
I - |' _..__LS.E—| 2xm-M2.4x0L5Pes OP ! J 2xn-@11 THRU.@17.5¢10.6 OF
| % : v
- = R e e B —
| | = = oz e
< i j 5" g B l —
SECTION A-A f —i :’— — e '
12
-3—;’0_ SECTION A-A | 200 H
4-M5x0.8Px10 DP 78 35 B-Mbx1Px12 0P {m-1h200 100 _
PCO70 ’\ B | R -4 18 '["' /PCD 90 L .35
[ = ! \?\D |II 1 I ‘IF I : g ‘a I F-” ™ -E-'_
© . SR ———— S ——— ST = S R | [ LT i
i " N ,_| Y @ - " ! 0 * ]L____'L ,.,I g o [ ; P T | = _ji | 31%; VIEWE
4 t — z | = FY I — | o
ki Ex!.n_e\ﬁ/ ! 70 g F [N i | i} T = 1
Feb io [n-1kc100 wehy 150 [ s
L2 In-1lx150 B
VIEWB [¥]
L i
ﬂ(ﬁ&lﬁ 28 L1 (mm) BRETE Marimum Stroke lmm] H e E®Mass (kg)
mm I
Rail Lengtn Totallenath Stmmpee  S2@Eses A 2 STBEsock  S27ERlsck ﬂ’ﬁglﬂ 2R L) (mm) BATEMaimumStrokelmend L E#Mass lkg)
340 440 246 170 70 3 2 63 71 Rail Length Totallength Apmmecs  A2EEeick AlREBlck A2 EEBlock
440 540 U6 270 20 4 3 76 8.4 980 1098 811 659 40 90 7 5 39 359
540 840 446 370 70 5 3 88 2% 1180 1298 1011 859 5 90 8 b an 411
640 740 546 470 20 6 4 101 1 1380 1498 1211 1059 90 90 9 7 422 462
740 Ba0 [.1.1.3 570 70 7 4 1.4 12.2 1480 1798 1511 1359 90 40 n 9 499 539
940 1040 846 770 70 9 5 128 136

017 | TOCO MOTION TOCO MOTION 018



B i A o

1.10 [55ZEEEEfR;EE AR Motor Housing and Motor Adaptor Flange TOCO MOTION #3Ef5E Step Motor

1.10.1 EFAFGIERHRR Motor Selection I iRt Flaoge Saeeion el Bt e
) S KT30 KT40 KTS0 KT40 KT8O KT86 KT100KT130 Ikel  Motor [kl ™™™
TOCO MOTION ﬁﬂ&ﬁg MlkrlJSYStem Servo Motor ST40  FRSTO11024 = Fa F3 = = = = e 03 E‘ELLQ
E: E |
me  pE o oEm Flange Salation fShe EOE EE A5 ERSTEA = S - < . o
Mntor Weight Drive Weight Remarks FRSTO22024 - BB FB F - - - - 08 ’ i
Output k9l (T30 KT40 KTSO KT60 KTBO KT86 KT100 KT130 (kg (Kg) ey . - - : y | T Single axis
50W FRLS052C0JALCT D45 - [ F2 F2 Fa F3 - - - 220v ST55 § .
100w FRLS10200CJA4C] 06 - P R R B B - - - 220 HESER I — . SRS wE)
200W  FRLS20200C]08C] 1 - - - - Fo FO Fo F1 . o2 125 220¢ Eitsilines i L i HA i i = = 043 Double axis
G00W  FRLS402CICI06C] 145 - = = O FO FO R - 200v I AN AN = S 07
T50W FRMSEZE}DMJ 2.66 Fl F2 220v 575 45552 Oriental Step Motor
=2 BiESiE Mitsubishi Servo Motor‘ : L e em2  mm sHDE mm
B  m= =Em BRI MAS wws =R En Satiis| Madsl Hanjeiitinieg Builtin  Welght Byiltin Weight
WE  Motor  Weight Flange Selection Weiote Drive  Welght Remarks KT30 KT40 KT50 KT60 KT80 KT86 KT100 KT130 Motor kel Drive  [Kdl
Output (K3l KT30 KT40 KT50 KT60 KT8D KT86 KT100 KT130 (k) Kg] NG E T . : . S Dl
oW HC-AQUI3SD 019 F1 3 = 5 - = = = 029 MEHRLMS 0.2 CSK244-AP - F2  F3 F5 - - - - PK244-01A  0.27 CSD2112-P (0.12
20W  HC-AQD23SD 022 F1 - - - - - - - 032 MRROMS 02 CSK265-AP - A R F5 - E : : PK245-014 035 CSD2112-P 0.2
50W  HF-KPOS3 035 - R B R F2 - - 075  MRESIR 08 220V CSK  CSK264-AP - : - F6  F6 F6 - i PK266-024 045 CSD2120-P 012
100W  HF-KP13 0.56 - F1 Fi F1 F2 F2 - - 0.89 MR-J35-14 0.8 220v 2308E CSK2e4-AP = = = Fé F& Fé = = PK266-024 0.7 CsD2120-P 0.2
J00W  HFKPZZ 094 - Il 5 B o Fo Fo £ 16 MRES0E 0.8 220V 2phase psKzsB-AP - g - F& F6 F& - g PK268-028 1 €sSD2120-P  0.12
400W HF-KP43 15 =z 5 - z Fo FO Fo Fi 21 MR-1IS-404 1 220V CSK294-AP - Z - & > - F4  F3  PK296-03A 1.7 CSD2145P 0.2
mow REKPR 39 E 3 = v 5 x R Wi 16 v CSK299-AP - B z 2 ; . Fi  F3  PK299-03A 28 CSD2145P 02
. ) CSK2913-AP - - - z : < F& F3  PKe913-02A 38 CSD2140P 0.2
AT EHESE Panasonic Servo Motor ) ﬁ!:ﬁf:i CSKE23-AP F3 - - = = = - - PHozA 0.1 SDS103P3  0.06
Eﬂj ;Eu%f v\}!éiﬁt Flaﬁﬁﬁgﬂﬂﬂ ES&E Hmps mm W CFKS43AP2 - FA F3 F5 - - - . PKS43NAW  0.21 DFCS107P 0.2
Motor Weight Drive  Weight  Remarks
Output K9l KT30 KT4D KTS0 KT60 KTBO KTB6 KT100 KT130 (kg (Kal CFKB44AP2 - F3 F F5 - = 2 e PK546NAW 027 DFC5107P 0.2
SOW  MSMDSAZP1 032 - F2 F2 F2 F3 F3 - - 053 MADDTHIS 0.8 1oy erdi §$Z'$E§ = B R F ;5 ;’5 z 2 :z:::::: 225 E:E::'::: g:
50w MSMDS5AZPY 0.32 - F2 F2 F2 F3 F3 - - 0.53 MADDTI20S 0.8 220V S AR pe 53 : : : : 7 e : : S ﬂ.s BEAETTER n'z
00W  MSMDOIIP D47 - F2 F2  F2 F3  F3 - 5 0.68  MADDTIOT 0.8 10V e cmwsampz - - - - e - A 75 RGO 12
100w MSMD012P1 D.AT - F2 F2 F2 F3 F3 - - 0.48 MADOTI20S 08 2207 5 phase CFKS66HAPZ - = 5 = Fs 5 g y PRE6EHNAW ﬂ-ﬂ OFC5128P 0-22
zgx :xﬁj;: g:: : : :: ::Eg:;‘; ;18 ;'2';: Gopping CKFS6IHAP2 - - - - F5 F5 - - PKSOOHNAW 13 DFCSI28P 022
- ! CFKS96HAPZ - s E - . . B - PKS96HNAW 1.7  DFCHI28P  0.22
400W  MSMDO4IP1 12 - - i = R - g 17 MADOT3IZD 15 1oV CEEA B = i ; i 5 et Eireee N o DERS TR
AW MOMINA2U 112 S8 5 : = ELLELE = 1o/ AT 1SR 2R CFK5913HAP2 - - - - - - 3 - PKS913HNAW 38  DFCS128P  0.22
750W  MSMD08251 2.3 = = = = Fé Fé F2 Fa 31 MADDT3520 1.5 220V UMK2434 = F3 F3 F5 z = = = PK243-01 0.21 UDK2109 D47
5 UMK244A . B R B - - - 8 PK244-01 0.27 UDK2112  0.47
Z)||FIIRASE Yas kawa Servo Motor UMK UMK245A - B R B - - - - PK245-01 035 UDK2112  0.47
[ [fe1] = =8 B Ngiﬂi mHE =R i 248HS UMK264A - - - F& F& F6 - - PK264-02 0.45 UDK2120  0.47
Mwoﬁ{ Motor  Weight Flange Selection ;\,eri:‘,‘,f Drive  Welght Remaris 2phase |mkaesn g g : F4 F6 F& - : PK266-02 0.7 UDK2120 047
Dutput K9} KT30 KT40 KTS0 KT60 KTBO KTB6 KT100 KT130 [kgl kgl i - i il s = ' B e
10W  SBMMY-AlAZA2] 013 F2 - - - - - - - 0215 SGOV-RY0ADIA 09 200V RK5430A z R = = = PK5LIW 025 RKDS07-A 04
20w SGMMV-AZAZAZ1 017 F2 = = — = = = = 0.27 SGOV-R70A01A 0.9 200V RKS44A4 = F3 F3 F5 = Z = = PHSALW 0.3 RKD507-A 04
S0W  SEMAV-ASADAGT 0.3 - M AR R R R - - - seDv-R70A01A 09 FE, RK545A4 : FA F3 F5 - . . . PK54EW 0.4 RKDS07-A 0.4
S0W SGMAV-ASADAZC D3 - F1 F1 Fi F2 F2 - - - SGOV-R70A0TA 0.9 ,‘ﬁg’ RK RK56684 = = = = F& F5 = = PHE&EW 0.8 RKD514L-A 0.85
50W  SGMAV-ASADAZ1 03 - M F R F2 F2 - E 075  SGDV-R70AOIA 09 ERE 54H#S RK549AA - - - - F5 F5 - - PKS&IW 13 RKDS14L-A 085
100W  SGMAV-0IADAGS 0.4 - M A A F R - - 0.89  SGDV-RIDAQIA 09 Sphase RKsosan = £ E 2 g - F3 - PKEIEW 1.7 RKDS14H-A 0.85
200W  SGMAV-02ADAS 09 - - z - FO FO  FO0  F1 16  SGDV-IR6ADIA 09 RESYIAA = 2 = = 7 2 B - FRSI7W 28 RADSI4H-A. D85
400W  SGMAV-04ADAGS 12 - - - - F0O FO FO  FI 21 SGOV-2RBAOIA 1 RKSP13AA - - = 2 - S 5 3 - PK5913W 38 RKDS14H-A 0.85
750W  SGMAV-0BADALT 24 - B g - : : Ml F2 & SGOV-5READTA 1.5 ?:S-E:ep ASC34AK F3 - - : 5 . 5 2 ASM3GAK 015 ASDIDA-K 025

019 TOCD MOTION TOCO MOTION 020



1.10.2 FHiEEEEERSIEE AR Motor Housing and Motor Adaptor Flange

“KT30
FSSEEE FO Motor Housing FO

g FiEE LR F1 Motor Adaptor Flange F1
Iy

FRIEiEIEERE F2 Motor Adaptor Flange F2

4a
1.} 25

Ll

4-0.5 THRU, 2635 0P |
PCD.28

~KT&40
FR3EEE FO Motor Housing FO

—
12, 25

FRIEIEREEM F3 Motor Adaptor Flange F3

7"“_%_ 28 R | E—

' TdE
el !
— L; | 18]

| 4-B35Thn,
/B350

&0

-3l 5P Theu

I_42

B

B SRR RSP,
Remarks: models with ¢ are still under development

021 I TOCO MOTION

KT50

FRiZEE FOMotor Housing FO
L -

— e o L

FSIZiE@ESEM F1 Motor Adaptor Flange F1

85 PCOSH
L32 *

A-MAxDTPREDP

FSIEEIEER F2 Motor Adaptor Flange F2

[P . . Poss,

M3 BFRBOP —

| {13 A
rrT B —‘-J f °:@<\T' ‘5\.

- e | R

B o

o .= L
KTé60
FRiEE Fo Motur Hausmg FO
...._iﬁ m:“ - OO AAMAOTPAIDP 5
{_s_. N AN

- . o

5

7
CaMBEPRE

FRIZIRIE%ERE F1 Motor Adaptor Flange F1

[ * = ‘.n_;':u FoDes,

AWM TPHIDR

=
wlE

.‘§I°’

=13

1%&3“ F2 Motor Adaptor Flange F2

._' '|—Iql-_ e ‘ MD‘;.MZXO SPXWODZ(_,-
— 0 ek
§84EEIEEE HO Mount Housing HO
Pl
I ‘ ’

FRIEiEREEM F3Motor Adaptor Flange F3

s S T PP 1)
- T | —= |/ E
1 : -
v B = I P
| |@ B 1 b 4-MIAD5P Theu
== | | i Ei 25 i A‘:_‘:’j. #l 7 E
FER L |- |- . Mot o
EZEEEE HOMount Housing HO
LR . ¥4 4-M3a0.5PABDP
SN e |

ﬂﬁﬁ

E‘EE&J&E- F4 Motor Adaptor Flange F4

L] 1,

A TP 100P
Es T _,.r

FBIEIEE% M F5 Motor Adaptor Fl.ange F5 eguamm
58 7

B

&y
< 4405 5P Thru

EIEEEE Muunt Housing H1

&
L]

TOCO MOTION

| 022



A5 B

*KT80 KT100

FREE FO Motor Housing FO Mator Housing FO FSiZEE FO Motor Housing FO FE3EEIE A F3 Motor Adaptor Flange F3

I PLCD.T0 94
= i)
e |..,._u F = 2745
[ g ) 2] = B2
I'—' 4-M5x0.8Px10 DP L 25 i
2l P.CO.70_ ™ r AMEPAZ P :

2 ody Sk !
-..—.EéIE_F__ ?"_‘i?;[ ;

@12h7

z
FRIEEEZE F1 Motor Adaptor Flange F1

aa | [F — -/\5‘ FE5EiEE5%RE F1 Motor Adaptor Flange F1
T4 Lo
et = .’-] At %% 12 i

t CI-BIQ a5

FSIEWEEE F2 Motor Adaptor Flange F2
] 8

E’“ brewiag
———H . ’J'\‘
iy el

- N i 4 ¥ T FBiEiEIE5M F2 MotorAdaptor Flange F2
m_.

13
Z 2
4 2

o et o o

8 & B -
i@ AN F3 Motor Adaptor Flange F3 SiEE AR F6 Motor Adaptor Flange Fé 35

4-MSx0.8Px12 DP
~ BCDS0

3 51

AW S0 DF
BCO4S

|
| 440 TPan 2P ' T & il
Tl BTN ﬂi@g“ N,
g!' u;:to o E;]g:. g .’ L= == \/

g
FEw ERRSEERED,
Remarks: models with ¢ are still under development

KT86
FSIZEE FOMotor Housing FO P52l %M F4 Motor Adaptor Flange F4 KT130
ki [ iz
"}%‘ P womer g g . FBIZME FOMotor Housing FO FEE;@§24M F3 Motor Adaptor Flange F3
S YA e o =R %_Fyk\ (2 R R 128
N = 1] Ju 1/ . 35 as -Méx1P i MéxtP
bty L =M= [ By em g B
. = L =i ] L8 - ‘ L
sl £ £-1~ !’f&nm;‘?‘/ == | ?( i
RiZMEEM F1Motor Adaptor RIZRIEEM F5 Motor Adaptor Flange F5 = A
L[ AL] 14 k-3
;F%_| . - i £ v
t T & T T ; - e ‘I/:“ . E =
=] g: il ?ﬂ] ¥ il };{ E é { = HELE {%@}jﬂ 9 FSIEIEIE LB F1 Motor Adaptor Flange F1
=L s ot e i v =,
SSiEE12:% 8 F2 Motor Adaptor Flange F2 FRIEEIEEE F6 Motor Adaptor Flange Fé M 5 d
r ) = e " 0 B :% 5
i pRLE
iy — i i &
AT 2P
] [ E:— i _EM ';4@%'3‘:?/}: 17 F5iZi81%:%80 F2 Motor Adaptor Flange F2
¥9IBEIEEE HO Mount Housing HO et LOLBSOP, 120
\ i 8 . T —hH= i
% ot % F{" |- ﬁ_{_w il ﬁlﬁ--;wll %_j 2
v o — = =4 == | e = B 1 | 8 =
(e S, = I IOL =
e M| e [ il | ‘;;ﬁ’“m bt § g ] T

023 | TOCco MOTION TOCO MOTION I 024




B 3 A

1.11 {B{EEE Optional Accessories

-

RY

KT40

KT50

KTs0

KT86

KT100

KT130

wEa R gD,

MERE
Nominal Width Rail Length

100
150
200
150
200
250
300
150
200
300
400
500
600
340
440
540
&40
740
940
980
1080
1180
1280
1380
980
1180
1380
1680

BXTE RIEEE RARES

Max.

Stroke
35
43
923
40
95

130

160

56
106
166
234
306
366

260
336
408
480
640
769
855
945
1029
115
748
M6
1084
1346

Min.

16
27
a7
21.5
29
36.5
46.5
16
20
40
56
70
90
36
50
62
76
70
110
58
65
70
78
85
62
78
94
13

51
0
130
81.5
124
166.5
206.5
80
126
206
290
376
456
224
310
398
484
570
750
827
920
105
1107
1200
810
994
178
1459

Remarks: models with ¢ are still under development

TOCD MOTION

025

60

62

110

150

180

29.5

37

61

73

89

T ———l

r—

24

32

&1

BA{iI Unit : mm

d

33

&7

54

75

95

108

1.12 #EPRFIRA Switch

1EPRENE Switch rail

RXMESS Switch

FR5F Neminal Width g

KT40

KTBb
KT100
KT130

415
45.5
51
&1
63.5
il
85.5

59
63.8
T4
767
B4
8.5

SRR S1: TOCO MOTION EE-SX5T1
Switch 1:  TOCO MOTION EE-SX671

FR i Nominal Width

- KT40

KT50
KT40

T KTBO

KTB&
KT100
KT130

a
365
£.3
462
56
59
b6
80.8

0.8

24

48
52.8
63
65.7
T3
875

HfESR 52 . TOCO MOTION EE-SX&74
Switch 2. TOCO MOTION EE-SX474

R Nominal Width

KT100
KT130

fES R RIRR D,

57
64.5
79

d e
10.8 15.3
10 15
14.5 8
19 -
18 B
20

24 0.5

d e
28 105
105 10.2
14 3.2
18 -

18 |

20 4.2
235 4.1

Remarks: models with +r are still under development

TOCO MOTION




